¢

IFE754AXA7—/\HEY HSKA®-FMH©-6-0

FACE MILL ARBOR (Type H)

T
wn
A
o GLAMP
g' MODEL CODE FIG. ®D »C1 L LH R H w K BOLT
77} M L1
. -FMH16 -37 -060 301100 1 16 37 60 34 3 16 8 4 M8 25L
3 -060 301102 1 60 34 —
-FMH22 -47 -090 301104 1 22 47 %) 64 — 17 10 5 M10 | 30L
HSKAS50 -060 301106 | 2 60 34 —
-FMH27 -60 090 301108 2 27 60 ) 64 — 20 12 6 M12 | 35L
3 -060 301110 1 60 34 —
-FMH22.225 -47 090 301112 1 22225 47 ) 64 — 17 8 3.5 | M10 | 30L
3 -060 321560 1 60 34 3
-FMH16 -37 090 321562 1 16 37 20 64 3 16 8 4 M8 25L
‘ -045 321564 1 45 19 3
3 -060 321566 1 60 34 3
-FMH22 -47 090 321568 1 22 47 20 64 3 17 10 5 M10 | 30L
-150 321570 1 150 124 3
3 -060 321572 1 60 34 —
-FMH27 -60 2090 321574 1 27 60 20 64 — 20 12 6 M12 | 35L
3 -060 321576 | 2 60 34 —
HSKA63 | -FMH32 -85 2090 321578 2 32 85 20 64 — 22 14 7 M16 | 40L
-045 321580 1 45 19 3
3 -060 321582 1 60 34 3
-FMH22.225 -47 2090 321584 1 22225 47 20 64 3 17 8 35 | M10 | 30L
-150 321586 1 150 124 3
3 -060 321588 | 2 60 34 —
| -FMH25.4 -70 -090 321590 | 2 254 70 90 64 — 22 9.5 5 M12 | 35L
: -150 321592 | 2 150 124 —
3 -060 321594 | 2 60 34 —
-FMH31.75 -76 090 321596 2 31.75 76 20 64 — 30 | 127 7 M12 | 35L
‘ -105 351420 1 105 76 5
3 -150 351422 1 150 121 5
e 47 200 | 351424 1 47 200 | 171 5
-250 351426 1 250 | 221 5
-060 351428 1 22 60 31 5 17 10 5 M10 | 30L
3 -105 351430 1 105 76 5
i -FMH22 -60 -150 351432 1 60 150 121 5
HSKA100 | -200 351434 1 200 171 5
: -250 351436 1 250 | 221 5
3 -060 351438 1 60 31 5
. -FMH27 -60 -090 351440 1 60 90 61 5
‘ -150 351442 1 150 121 5
| 060 | 351444 1 | 2’ 60 | 31 | 5 20 12 6 M2 s3s
. -FMH27 -76  -090 351446 1 76 90 61 5
: -150 351448 1 150 121 5
AL RERI—EHY ZBRT7 A AINT—/INTT. CiEXH] ORDERING EXAMPLE
2. hy BFHDHITBI Z > 7RI MEIRBLTOET, ® @ ® @® ®
3. AR MI12.M16) DY Z > 7RI hDEE LEVEEIE. = 27 - H
4. J—Z2 M TERBENTHYET, @ Helds Neme
NOTE : 1. Face Mill Arbor for cutters with OH hole.  ®4A>vO—@&eD e
2. Clamp bolt for fastening cutter is included. @ FA% eCl oC1
3. When included clamp bolt (M12, M16) does not fit, please choose suitable _®GEEL  Gllength
MBH-M12, M16 bolt from the clamp bolt list on page 85
4. Coolant pipe is included.
135

] ——




—

IEE IS4 A7—/\HE!

FACE MILL ARBOR (Type H)

LH
-
O
: : E[S
K

D

HSKA®-FMH®-©)-©

L
LH
15|
._H_‘
L1 ] A= L1
1| 4=
| ik I alo
—] Q’ i ii“ ! — tt 777/4\ I__(ll 3&@ Et i
| | =
ETK— | U
Ik

-060 | 351450 1 60 31 —
-FMH32 96 -090 | 351452 1 32 96 90 61 — 22 14 7 M16 | 40L
] -150 | 351454 1 150 121 —
] -075 | 351456 1 75 46 —
-FMH40 -100 105 | 351458 1 40 100 105 76 — 26 16 8.5 MBA-M20
: -105 | 351460 1 105 76 5
] -150 | 351462 1 150 121 5
FMH22.225 47 200 351464 1 4T 200 (171 | 5
-250 | 351466 1 250 221 5
-060 | 351468 1 22225 60 31 5 17 8 35 | M10 | 30L
-105 | 351470 1 105 76 5
| -FMH22.225 -60 -150 | 351472 1 60 150 121 5
: -200 | 351474 1 200 171 5
-250 | 351476 1 250 221 5
: -060 | 351478 1 60 31 5
: -090 | 351480 1 90 61 5
HSKA100 -FMH25.4 -70 150 | 351482 1 254 70 150 121 5 22 9.5 5 M12 | 35L
: -200 | 351484 1 200 171 5
-060 | 351486 1 60 31 5
-090 | 351488 1 90 61 5
. -FMH31.75 -76 -105 | 351490 1 76 105 76 5
: -150 | 351492 1 150 121 5
-200 | 351494 1 200 171 5
2060 | 351496 1 31.75 60 31 — 30 13 7 M16 | 40L
-090 | 351498 1 90 61 —
. -FMH31.75 -96 -105 | 351500 1 96 105 76 —
: -150 | 351502 1 150 121 —
-200 | 351504 1 200 171 —
: -060 | 351506 1 60 31 —
: -090 | 351508 1 90 61 —
-FMH38.1 -100 105 | 351510 1 38.1 60 105 76 — 34 | 159 9 MBA-M20
-150 | 351512 1 150 121 —

1. WERN—HRH Y AR T 1 AT —/NTT
2. Wy EZEmOHTAI T 7RIVNIMSBLTOWET, ® ® 10 ®
3. B M12.M16) DY 5> 7RI MPi#E LERVEEIE. H 271- -

4. 5= MM TRABERTHEY XY, @ FFF el N

NOTE : 1. Face Mill Arbor for cutters with OH hole.  ®4A4>vO—f&eD e
2. Clamp bolt for fastening cutter is included. @ BRI oC1 oC1
3.When included clamp bolt (M12, M16) does not fit, please choose suitable _®GEEL  Gllength

MBH-M12, M16 bolt from the clamp bolt list on page 85

4. Coolant pipe is included.

HSK series

136




Sa119S MSH

ACCESSORIES

X

7oevU

IEEISA A7 —I\BISVTRKILE

CLAMP BOLT FOR FACE MILL ARBOR

[ FIG.1 G
g 9 | o 8
Iy .
L1 | Lo e
L
MODEL CODE FIG. @C1 2C2 L L1 L2 L3 G ARBOR CODE
MBA -M 8 49771 20 15 23 14 9 7 M 8%xP1.25 FMA22.225 SMA16

MBA - M10 49772 28 18 27 16 11 9 M10XxP1.5 SMA22 SMB22.225

MBA - M12 49773 1 33 23 30 18 12 10 M12XxP1.75 FMA,B25.4 FMB27 SMA27

MBA - M16 49774 40 23 40 24 16 10 M16XP2.0 FMA31.75 SMA32 SMB31.75

MBA - M20 49775 50 27 50 30 20 14 M20xP2.5 | FMA,B38.1 FMB40 SMA40 SMB38.1

MBA - M24 49776 65 37 59 35 24 14 M24 xXP3.0 FMA50.8

MBH - M12 49691 5 33 — 38 - — 10 M12XP1.75 FMH25.4 FMH27

MBH - M16 49692 40 — 45 — — 10 M16XxP2.0 FMH31.75

-~ ~ — o
@ <HSK ¥v2o>J—F K] \A
7o LYY <HSK SHANK> COOLANT PIPE
EE (Fixed Type) a#= (Movable Type)
u d - Nllens
a = N a ) N
° u = ° t e
O@EER (Fixed type) @t]E= (Movable type)

MODEL CODE HSK No. D1 D2 MODEL CODE HSK No. D1 D2
CLP-032 25180 HSK32 6 M10%x1.0 CLPF-040 25191 HSK40 8 M12x1.0
CLP-040 25181 HSK40 8 M12%x1.0 CLPF-050 25192 HSK50 10 M16%x1.0
CLP-050 25182 HSK50 10 M16%1.0 CLPF-063 25193 HSK63 12 M18%1.0
CLP-063 25183 HSK63 12 M18%1.0 CLPF-100 25195 HSK100 16 M24x1.5
CLP-080 25184 HSK80 14 M20x1.5
CLP-100 25185 HSK100 16 M24x1.5

A1 EER - FJBNOBRICIIEM X — D —RRICTHERSLELN, TN ORDERING EXAMPLE

NOTE 1 : Please confirm it to the machine maker in choice of fixed type or movable type. @ @

-
@ HSK No. HSK No.
137




